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1. (a) What do you understand by incidence of taxation ? How does the incidence

of taxation in case of indirect taxes differs from incidence of taxation in

direct taxes ?
(b) What are the important canons of taxation ?

(c) What is an indirect tax ? Explain the advantages and disadvantages of indirect

taxes ?

What is the social and economic importance of tax in an economy ?
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(d) The administration of the indirect taxes in India is controlled by the Central
Board of Excise and Custom. Explain the role of authorities working under
this Board.

OR
(a) Certainty and simplicity are two important canons of taxation. Explain.

(b) No tax can be imposed without the authority of law. Explain how the

Government gets the power to impose indirect taxes.
(c¢) What are the essential requirements of an efficient tax structure ?

(d) One of the important weaknesses of the Indian tax system is the narrow

base of taxation. Suggest to improve the base of taxation. (3+4+4+4)
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Discuss the advantage of VAT over the earlier system of sales tax.

VAT has been able to eliminate the cascading effect of the sales tax. Do you

agree ?7

What are the different rates of VAT as per the white paper on
VAT ?

“Input tax credit is generally given for the entire VAT paid within the State

on purchases of taxable goods meant for resale or manufacture of taxable

- goods”. In the light of this statement, enumerate the cases of purchases of

goods in respect of which tax credit is not available.
OR

What is meant by input tax credit in the context of VAT provisions ? How

does input tax credit help in achieving the essence of VAT ?
What are the major deficiencies of VAT system in India ?

Is any threshold exemption limit fixed for dealers to obtain VAT registration,

as per the White Paper ? If yes, why is the same provided ?

Mr. X. a manufacturer sells goods to Mr. B, a distributor for 32,000
(excluding of VAT) Mr. B sells goods to Mr. K a wholesale dealer for
32,400. The wholesale dealer sells the goods to a retailer for 33,000, who
ultimately sells to the consumers for ¥4,000. Compute the Tax Liability,
input credit availed and tax payable by the manufacturer, distributor, wholesale

dealer and retailer under invoice method assuming VAT rate @ 12.5%.
(3+4+4+4)
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(a) Explain the rationale for introducing service tax in India.

(b) Distinguish between selective approach and comprehensive approach in levy

of service tax.
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(c) Explain the meaning of “service” under service tax.
(d) Are there any exemptions available to a service provider.
OR

(a) Since when has service tax been introduced in India and how many services

were initially covered under service tax ?
(b) Explain the applicability of service tax law in India ?

(c) Enumerate five services which have been exempted from service

taxes.

(d) What is the exemption available to small service providers ?  (3+4+4+4)
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(a) Explain the procedure for registration under service tax.
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Service tax is generally payable by the service provider. Are there any

exceptions ?
When is an assessee compulsorily required to pay Service Tax electronically ?
Explain the concept of “abatement” .

OR

How is the value of service determined if the billing is inclusive of service

tax ?
List any five cases where abatement is allowed.
Explain the contents of the invoice to be issued by the service provider.

Explain the concept of “reverse charge” under service tax. (3+4+4+4)
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What are the due date for filing the returns of service tax ? Can a return

once submitted be revised ?

What are the consequences if there is a delay in furnishing the service tax

return ?
What are the contents of the service tax return ?
Explain the consequences for delay in payment of service tax ?
OR
How can the assessee adjust the excess service tax deposited by him ?

R a chartered accountant has been providing services for several years. The
value of services provided in the last financial year was 345,00,000. His
service tax liability for quarter ending 30.9.2012 was ¥3,09,000 which was
deposited on 15.12.2012. Compute the amount of interest and penalty to be
paid by R for delay in payment of service tax assuming he is not able to

establish that such delay was due to reasonable cause.

Write a note on the scheme for submission of return through Service Tax

Return Preparer.

Discuss the important rules for determining the place of provision of
services. (3+4+4+4)
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